Law of Cosines ... Set 3

The Law of Cosines

Find each measurement indicated. Round your answers to the nearest tenth.

1) Find AB 2) Find BC
B c
2
B 20 A
€3 4
3) Find BC 4) Find BC
A c
9_-
17 28 T B
C B
5) Find AB 6) Find AB
B
A 12 c
7) Find mzA 8) Find mzB
A A
LN 25
¢ 14 B B <
9) Find msA 10) Find mzC
c
29 28
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Answers

Find each measurement indicated. Round your answers to the nearest tenth.

1) Find AB 2) Find BC
B c
45
29 21
21
B 30 A
C a3 4
3) Find BC 4) Find BC
A C
Q/__,-f 6
91° 28 —17°
i A 1 B
c 23 B
5) Find AB 6) Find AB
B
23
13
A 12 C
7) Find m-A 8) Find mzB
A
_ 17
I TIE 5 _—1ro143°
c ” B
9) Find mzA 10) Find m2C
c
29 28
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11) Find m-sA

15)
A
|30in
8g8°
C 47in B
17)
B
7 mi 12 mi
A C

19) InAABC a=14cm, b=9cm, c=6cm

21) INAQRP, g=12in, p=28in, r=18in

23) InADEF, e=16yd, d=12yd, f=17 yd

12) Find mzA

16)
c

10.4 cm 18 cm

B 21.9cm A
18)

A
29 mi
C 27 mi B

20) InAXYZ, msX =138° y=151in, z=251n

22) MAQRP. p=28km, g=17 km, r=15km

24) N ARPQ, p= 18 mi, mzR =17, g=28mi
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Answers
11) Find msA 12) Find mzA
C A
17 0 13
10 B 20 C

Solve each triangle. Round your answers to the nearest tenth.

15) 16)

7 mi a1° 12 mi

59° 30°

A 14 mi ¢

19) InAABC,a=14cm, b=9cm, c=6¢cm 20) In AXYZ, msX =138 y=15in, z=251in
msA =137°, msB =26, msC=17° msY =15.5° msZ =26.5°,x=3751n

21) InAQRP, g=12in, p=28in, r=18 in 22) N AQRP, p=28km, g=17 km, r=15km
msQ =17°, msR =26°, msP= 137" msQ=31°, mzR=27° msP=122°

23) InADEF, e=16yd, d=12yd, f=17yd 24) InARPQ,p= 18 mi, mzR =17°, g=28 mi
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